
Local:

Data:Projeto:

Nome Proprietário:

Folha:
Planta:

Responsável Técnico: ESCALACREA

ENGENHEIRO CIVIL

GLAUBER MARTINS

Relação do aço

P17 P18 P19

P20 P21 P22

P23

AÇO N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 240 128 30720

2 5.0 480 39 18720

3 5.0 96 78 7488

CA50 4 10.0 52 VAR VAR

5 10.0 52 358 18616

6 10.0 52 197 10244

Resumo do aço

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

5.0

338.6

569.3

229.6

96.5

PESO TOTAL

(kg)

CA50

CA60

229.6

96.5

Volume de concreto (C-25) = 3.86 m³

Área de forma = 49.28 m²
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